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SECOND YEAR HIGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 2019
Part — 111
ECONOMICS
Maximum : 80 Scores
Time : 2% Hours

Cool-off Time : 15 Minutes

G

eneral Instructions ro Candidates : \
« There is a 'Cool off time’ of 15 minutes in addition to the writing time of 22 hrs.

» You are not allowed to write your answers nor to discuss anything with others during
the ‘cool off time'.

* Read questions carefully before answering.

» Calculations, figures and graphs should be shown in the answer sheet itself.
« Malavalam version of the questions is also provided.

» Give equations wherever necessan.

» Electronic devices except non programmable calculators are not allowed in the
Examination Hall,
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Answer any 10 questions from number 1
to 12. Each carries 1 score. (10x1=10)

1. Which one of the following represents
MR curve of a firm under perfectly
competitive market ?

a) Horizontal straight line parallel to x
axis

b) Vertical straight line parallel to y axis

¢} Downward sloping straight line

d) Upward sloping straight line

2. Which one of the following relates to
fiscal policy ?
a) Interest rate
b) Money supply
¢) Taxes
d) Cash Reserve Ratio

3. Freeentry and exit of firms in a perfectly
competitive market indicates

a) P=Min AC

b) P<AC

c)yP>AC

d) Nonc of the above

4. Which of the tax that does not depend
on income ?

a) Proportionate tax
b) Direct tax

¢) Progressive tax
d) Lumpsum tax

5. Choose the correct one,
a) 1 - MPC = APS
b} APC —-APS =1
c) APC +APS =1
d) MPC + MPS =0

QR
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. Choose the one which represents

perfectly competitive market.
a) AR > MR

b) MR > AR

¢) AR =MR

d) None of the above

. Which measure of money supply

1s known as aggregate monetary
resources ?

. ldentify the value of price elasticity at

a point on a straight line supply curve
passing through the origin.

. The profit when Total Revenue equals

Total cost.

IOL% K% , This Cobb-Douglas production
function exhibits which Law of Returns to
Scale.

In an economy government invest ¥ 40
crores. As a result income increases by
T 120 crores. Find investment multiplier.

1. The situation when speculative demand

for money is infinitely elastic.

Answer any S questions from 13 to 18.
‘Hach carries 2 score.

(5%2=10)

. Classify the following economic

variables under stock and flow variable.
Money supply, Govt. expenditure,
Transaction demand for money, Public
debt.

Distinguish between automatic stabilizer
and discretionary fiscal policy in an
economy.

10.

11.

12.

Score
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15. If AY = 1000 and AC = 700 in an
economy

a) Find MPC and MPS
b) Prove that MPC + MPS = 1.

16. Observe the graph.

o
(’ocii‘\ﬂ& 'b'\l
‘%e?‘ /
A \C
B
O gq 4 Gutput

Identify the following :

a) Short run supply curve part of the
firm

b) Shutdown point.

17. The demand and supply function of a
firm is given below :
q, =220-P
q =100+ P
Calculate equilibrium price and
equilibrium quantity.

18. Identify any 4 functions of commercial
banks.

Answer any six questions from 19 to 25.
Each carries 3 score. (6x3=18)

19. Below is given Keynesian Consumption
function.
C=20+0.8y
a) Identify autonomous consumption
in the equation.
b) If y =300, find consumption and
saving.

VIR O 0
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larginal Propensity to Consumer
MPC) of an economy is given as 0.8.
} Prove that tax multiplier is smaller

in absolute value compared to
government expenditure multiplier.

1) State the reason for this.

dentify any 3 features of perfectly

Jjompetitive firm.

low does money overcome the problems

3f Barter system ?

selow is given the budget line equation

3f a consumer.
4x, +4x,=20

) Prepare the consumption bundle
which cost exactly equal to money
income.

1) Draw the budget line.

pistinguish between product tax and
rroduction tax.

i xplain the reason for ‘U’ shape of Long

tun Average Cost (LRAC) curve.

tr any 4 questions from 26 to 30.

carries 4 score, (4%4=16)

) Define Marginal Product and Average
Product.

1) State the relationship between these

two.

20.

21.

22,

23.

24.

25.
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27. Imagine that the price of rubber an
important raw material used in the
production of Hawai chappal increases.
Graphically analyse the immediate
impact of this on the equilibrium price
and quantity of Hawai chappals.

28. Below is given the budget data.
Item T in crores
1) Capital receipts

excluding borrowing 230
ii) Revenue expenditure 120
i1} Interest payment 15
iv) Revenue receipts 75
v) Capital expenditure 120

a) Calculate revenue deficit and fiscal

deficit.

b) How will you arrive at primary
deficit from fiscal deficit ?

29. Equilibrium income and output in a two
sector economy is given below.

YA
AS
AD
AD(C+)
AD; £/
v X

a) Suppose the investment increases by
Al show its impact graphically.

b) Explain the working of investment
multiplier.

AN A
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30.|Calculate GDP,,, and GNP, by using
the following data :

Item T (in crores)

i) Pvt. Final consumption

expenditure (C) 20,000
i) Govt. consumption and

investment expenditure 15,000
ity Private final investment

expenditure 10,000
V) Export 800
v) Import 1,500
vi) Net factor income from

abroad 1,300

Answer any 2 questions from 31 te 33. Each
carries 5 score. (2x5=10)
3. Price determined by the forces of
demand and supply of sugar is T 36/ke.
Government find it very high and
lowered the price to T 22/kgto protect
the consumers.

a) Name the programme that

government implemented for this
b) Illustrate it with the help of graph.

¢) What are the consequences of its

implementation ?

Score
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32. Consumption function in a two sector
economy is given below.
C=100+0.8y,1=250
a) Find the equilibrium income.

b) If investment increases by I 70/-.
Calculate the new equilibrium
income.

¢) If MPC = 0.6, find out the new
equilibrium income.

33. Give a brief note on the relationship
between demand for a commodity and
prices of related goods.

Answer any 2 questions from 34 to 36. Each

carries 8 score.

34. Afirmunder perfect competitive market
must satisfy 3 conditions to attatn profit
maximising level of output in the short
run.

a) List the three conditions.

b) Explain the conditions with the
help of graph.

35. “RBI uses both quantitative and
qualitative tools to control money
supply in our country”.

a) Listany 2 qualitaﬁve tools
b) Explain the operation of 3 quantitative

tools that RBI is using.

36. a) Identify 3 objectives of Govt.
budget .

b) Briefly explain the components of
Govt. budget.

(2x8=16)
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